0 ® * 5 “ B " 0 9 L] 7 6 s 4 3 2 1
DETAIL1
Scale 8:4
[ *%xexx *¥|
VERSION
WEEK NUMBER
SHIELD DAY

SOREF,

M20 REF.
SEE NOTE 5

(OPTIONAL) WITH
FRONT PANEL MOUNT

15.8MAX,

(OPTIONAL}
LOCKING PANEL WITHOUT
FRONT PANEL MOUNT

SEE NOTE 4

DETAIL2
Scale 10:1

EM GASKET (METAL STYLE)

FRONT PANEL MOUNT

124MAX.

Y

3. SCREW THREAD M2.0 X 04 PITCH TAPPED THROUGH. RECOMMENDED SCREW M2 X 04 PITCH.
LENGTH 8mm. WITH A PAN HEAD, RECOMMENDED TORQUE O3Nm MAX.
4. CPAP USED TO ALIGN THE SOLDER TALS WITH THE SOLDER PADS

5. SCREW THREAD M2.0 X 04 PITCH TAPPED THROUGH. RECOMMENDED SCREW M2 X 04 PITCH.
Smm. WITH A PAN HEAD. RECOMMENDED TORQUE 03Nm MAX.

LENGTH
6. RECEPTACLE CONTACTS 127um MN NICKEL ALL OVER

Downloaded from Elcodis.com electronic components distributor

09 x 09 REF. 0 0 0 0 O e SONTACT AEA G0 Un N LD OVER G70um MY PALLAGRM MOKEL
See tote 7 =] 7. PCB DATUM B = B1 + B2 + B3
1 6. PCB RETENTION OPTIONS
XXXXXH ¥% [ — =~ 2 OR 4 SCREWS, (6 FOR REAR MOUNT OFTION).
¢ 2 OR 4 SOLDER POSTS, & FOR REAR MOUNT OFTION.
FarY 9. LOCKING PANEL (91532) ONE PER CONNECTOR ORDER SEPERATELY. SEE SALES DRAWNG SD-9532-001
Eg 9. FOR 4X PARTS PLEASE REFER TO SD-91804-001 (FOAM GASKET) AND SD-51804-003 (METAL GASKET)
_ A QUALTY| GENERAL TOLERANCES OFERSION STYLE SCALE | DESEN UNTS THRD ANGLE
= see DETAL2 | % ISYMBOLS| (UNLESS SPECIFIED) 541 METRC |©@ PROJECTION
8 SIGNAL 48 9 BEE mm INC] ORAWN 8Y DATE —[TWTLE
SIGNAL 47 see DETAIL1 §g SES | W0 [Tracs WALSH 111104 12X LATCH SALES DRAWING
3 5 S PLACES [CRECKED BY DATE
3BSREF Bez wE\/-0 [ZraEson DELANEY 18/11/04
sz 3|i T PLACE [£02 — [AFPROVED BY GATE
wsREE olif 2 ANGULAR E 2 = WALLACE 25111104 '@‘ MOLEX INCORPORATED
Fazsd FATERAL 10 BOCUNENT 1 SEET 0
b § SEXE DRAFT WHERE APPLICABLESEE_SHEET 485 SD-91525-004 10F5
ul << SIZE
i WITHN DIMENSIONS | A7 NCORPORATED AND SHOULD NOT BE USED. WITHOUT WRITTEN PERHSSON
e e 70a ® * 5 % s “ u | s | s 7 s | s | 4 3 2 1



http://elcodis.com/

41702005 3202003

4675 825

10
(4 SOLDER POSTS)

5.70(x2)
{4 SOLDER POSTS)

EERER

INNER SURFACE

MACHNE see DETAIL3
b FAL CRUSH PN ALIGNMENT HOLES
DETAIL3
DEEER Scale 74 &3
TYP,
see DETAIL4
SIGNAL 48
SIGNAL 47
H
s DETAIL4
Scale 741
NOTES:
1. REFER TO SHEET 1 FOR ANY UNSPECIFIED NOTES OR DMENSIONS.
2. AREAS OUTLINED TO BE FREE OF COMPONENTS
—] 3. ALL HOLE SZES ARE FNISHED HOLE SZES.
4 FOR ANY UNSPECIFED DMENSIONS OR NOTES SEE SHEET 1
RANGE THCKNESSES: INCLUSIVE. QUALITY| GENERAL TOLERANCES DFENSION STYCE SCALE | DESEN NS TORD ANGLE
s > wmwso:?m POSTS Avuﬂomm PCB THCKNESSES. SYMBOLS| (UNLESS SPECIFIED) MM ONLY 81 METRIC | © CpRG ESTION .
OREWNBY DATE——TTTE
6 TT)ER CAN ALT.G:‘%‘ATE IFFEchTTM\:IrAII:loI:SM.F THIS DMENSION -0 5| W=0 [ZPLAGES = WAL SH 14711104 12X LATCH SALES DRAWING
BY VARYING THE EM GASKET THICKNESS. FOR FURTHER INFORMATION -3 % 3 PLACES[E—— CFRECKED BY DATE
PLEASE CONTACT YOUR LOCAL SALES OFFKE Egg 2|2 \&/=0 [ZPracEs[zo0 DELANEY 18/11/04
SE 38 TPLACE 502 RFPROVED §Y—DATE
SUE £ ANGUL AR E 7= WALLACE 25711104 '@( MOLEX INCORPORATED
EEPS MATERAL NG GOLOMENT 0. SEETTO
b ﬁf ZX§ DRAFT WHERE APELICABLE SEE SHEET 485 SD-91525-004 20F5
W oo <] SIZE
D & WITHN DIMENSIONS | A7 NCORPORATED AND SHOULD RO BE USED WITHDUT WA TEN PERMSSION
e e 70a »® » L2 * 5 % kY B " w0 | s | s 7 6 | s | B 3 2 1

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/

— 4670

(OPTIONAL)

.
1030
220
|
|
|
.

4370

RECOMMENDED 12X PANEL CUTOUT
SCALE 321

CONNECTOR WITHOUT
— OPTIONAL FEATURES

(OPTIONAL) PCB
REAR_MOUNTING HOLES

=

2 SOLDER POST OR
= SCREWS (x2) OR (x4)
SEE NOTE 3
E
- PANEL THICKNESS
MACHINE PANEL e 12X PANEL CUTOUT WITH
° NOTE 2 FRONT PANEL MOUNT
LOCKING PANEL

NOTES.
1. REFER TO SHEET 1 FOR ALL UNSPECIFED NOTES AND DIMENSIONS.
2. FINAL ASSEMBLY DIMENSIONS
3. PCB RETENTION OPTIONS:
LOCKING PANEL WITH 2 OR 4 SCREWS, (4 FOR REAR MOUNT OPTIONS)
FRONT PANEL MOUNT (OPTIONAL) 2 OR 4 SOLDER POSTS, (4 FOR REAR MOUNT OPTIONS!
4, LOCKING PANEL (91532) ONE PER CONNECTOR ORDER SEPARATE SEE SALES DRAWING SD-91532-001

4 5. RECOMMENDED SCREW M2 X O4PITCH, LENGTH 8MM, WITH A PAN HEAD.
— h M‘ RECOMMENDED TORQUE 03 Nm MAX.
o
~ =] [quALTY| GENERAL TOLERANCES DIMENSION STYLE SCALE | DESIGN UNITS THIRD ANGLE
s | 2835]| IsyvBoLs| (UNLESS SPECIIED) I gM ONLWD(ME TMS:1 METRIC | © TIPROECTION
i uw\\ = SEE[| W0 [Zros - WALSH 1111104 12X LATCH SALES DRAWING
PCB RETENTION SCREW X2 OR x4 -% g SPLACES|E—— [CHECKED BY DATE
{OPTIONALY SEE NOTE 3 =&z wlE\/-0 [2PLAES[z010 DELANEY 18/11/04
ez S TPLACE [F02 ——— [APPROVED BV DATE
o CRUSH PIN ALIGNMENT POST (CPAP) s g ANGUL AR E 7= WALLACE 25011104 '@( MOLEX INCORPORATED
(COMPRESSED) EERY MATERIAL NG [GOCONENT NO. SFEET NO.
. ﬁu ZX§ DRAFT WHERE APELICABLE SEE SHEET 485 SD-91525-004 IO0FS
W oo <] SIZE
D1z WITHN DIMENSIONS | A7 NCORPORATED AND SHOULD NOT BE USED. WITHOUT WRITTEN PERHSSON
g »® » L2 * 5 % kY B " w0 | s | s 7 6 | s | B 3 2 1

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/

£ - L4 * s “ h-] L " u i L] 7 6 s 4 3 2 1
12 LATCH I/0 12 LATCH I/O 12 LATCH /O 12 LATCH 110
" || REAR MOUNTS | NO REAR MOUNTS | YES REAR MOUNTS | YES REAR MOUNTS | NO
PANEL MOUNTS| NO PANEL MOUNTS| NO PANEL MOUNTS| YES PANEL MOUNTS| YES
SOLDER POSTS [ NO SOLDER POSTS [ NO SOLDER POSTS [ NO SOLDER POSTS | NO

PART NO PACKAGING
91525-1210 TRAY
91525-8210 | TAPE AND REEL

PART NO. PACKAGING
91525-1212 TRAY
91525-8212 | TAPE AND REEL

PART NO. PACKAGING
91525-1214 TRAY
91525-8214 TAPE AND REEL

PART NO. PACKAGING
91525-1216 TRAY
91525-8216 TAPE AND REEL

12 LATCH /O

REAR MOUNTS

NO

PANEL MOUNTS

NO

6 || soLoer PosTs

2

12 LATCH /0

REAR MOUNTS

YES

PANEL MOUNTS

No

‘SOLDER POSTS

4

12 LATCH /O

REAR MOUNTS | YES

PANEL MOUNTS| YES

SOLDER POSTS 4

12 LATCH I/0

REAR MOUNTS | NO

PANEL MOUNTS| YES

‘SOLDER POSTS 2

Downloaded from Elcodis.com electronic components distributor

s | 4

PART No. PACKAGING PART NO, PACKAGING PART NO. PACKAGING PART NO, PACKAGING
91525-1250 TRAY 91525-1252 TRAY 91525-1254 TRAY 91525-1256 TRAY
91525-8250 | TAPE AND REEL 91525-8252 | TAPE AND REEL 91525-8254 | TAPE AND REEL 91525-8256 | TAPE AND REEL
=T TaUALT | CENERAL TOLERANCES SRERS STTE SCATE T RS ONTS RO ANGLE
S| |syMBoLs| (UNLESS SPECIFIED) 2541 ‘ METRIC od PROJECTION
e o TRAWN &Y DATE —[TWTLE
NOTES: 8 SSF|g| W0 [ZPAESE — WAL SH 1/11/04 12X LATCH SALES DRAWING
-3 & 3 PLACES[E—— [CHECKED BY DATE
2 REFER TO SHEET 2 FOR POD LAYOUT e =2z #lf\7-0 ZrAcskon DELANEY  18/11/04
HezE SlE TPLACE [£0.2 ———  [APROVED BV DATE
3. REFER TO SHEET 3 FOR OPTIONAL ASSEMBLY COMPONENTS AND DIMENSIONS. L 2 ANGULAR S 75 | MALLACE 25111104 '@( MOLEX INCORPORATED
- FOR X PARTS MITH Forr FASS REFER To S0 D345 = FATERAL 10 oL TG SETTO
ﬁé §§§ DRAFT WHERE ﬁ\%\EABLE SS‘IZEEE SHEET 4&5|SD-91525-004 4L OF 5
D & WITHN DIMENSIONS | A7 NCORPORATED AND SHOULD NOT BE USED. WITHOUT WRITTEN PERHSSON
o B Snioarss » “ s « ) 2 " w [ ] e 7 P s 2 I



http://elcodis.com/

PACKAGING
NO SOLDER TRAY 91525-1211 91525-1213 91525-1215
POSTS TAPE & REEL 91525-8211 91525-8213 91525-8215 91525-8217
Dim H = 2.3 TRAY 91525-1251 91525-1253 91525-1255 91525-1257
] ) TAPE & REEL 91525-8251 91525-8253 91525-8255 91525-8257
Dim H = 3.3 TRAY 91525-1261 91525-1263 91525-1265 91525-1267
) TAPE & REEL 91525-8261 91525-8263 91525-8265 91525-8267
N Dim H = 4.3 TRAY 91525-1291 91525-1293 91525-1295 91525-1297
) TAPE & REEL 91525-8291 91525-8293 91525-8295 91525-8297
B NOTES:
1. REFER TO SHEET 1 FOR ALL UNSPECQFIED NOTES AND DMENSIONS.
4 2. REFER TO SHEET 2 FOR PCB LAYOUT
3. REFER TO SHEET 3 FOR OPTIONAL ASSEMBLY COMPONENTS AND DIMENSIONS.
4. FOR 4X PARTS WITH METAL GASKET PLEASE REFER TO SD-91804-003
. A e s | MMONLY | 24 | MeTRc |© CIRRERANGLE
W0 [ZPLAGES on LN s Y| 12X LATCH SALES DRAWING
S oitston OELAEY  1a110s
LA B0z L [IE o f08x  MOLEX INCORPORATED
' DRAFT WHERE AZPLICASLESEE. SHEET 485 SD-91525-004 Sors |
HITHN DI NS NS | A ] G O AN A O AT PP RETARY 1O MOLEX
g »® » L2 * 5 % kY B " w0 s s 7 6 | s | B 3 2 1

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/

